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DN H13%] AMBHAIZH] T T2l et rH 3]
(64X} CLASS 11)

PR o == ol Mz|a =4 EHHE 22 |zama HEHET sT*ew Cy3| M2
171 [ 2AY [ 3AIY]| 162 | 82 | 42 | BS 191 | 291 [ 391 | +HIEdE=s
ANkS CLASS 11 1 1 1 1 1 6 5 15 45 60
225t CLASS 11 1 1 5 5 60
228 CLASS 11 0 5 0 60
20l CLASS 11 1 1 1 1 1 5 5 10 35 60
252 CLASS 11 0 5 0 60
ELE= DN CLASS 11 1 1 5 5 60
A CLASS 11 1 1 1 1 4 5 5 25 60
2 X| O CLASS 11 0 5 0 60
=612 CLASS 11 1 1 5 5 60
2d5et CLASS 11 1 1 1 1 1 5 5 5 30 60
0|58 CLASS 11 1 1 2 5 10 60
St&so CLASS 11 1 1 5 5 60
EN RS CLASS 11 0 5 0 60
2ol A CLASS 11 1 1 1 3 5 15 60
ol+=4 CLASS 11 1 1 2 5 10 60
A2F CLASS 11 1 1 5 5 60
2438 CLASS 11 0 5 0 60
HEd CLASS 11 1 1 1 1 4 5 20 60
B Xl & CLASS 11 1 1 1 3 5 15 60
0123l CLASS 11 0 5 0 60
231& CLASS 11 1 1 5 5 60
248 CLASS 11 1 1 1 3 5 15 60
s2et CLASS 11 1 1 1 1 4 5 20 60
Ol Off &t CLASS 11 0 5 0 60
ESR=Rel CLASS 11 0 5 0 60
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